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1. A. There is no  more wood inside 
B. The wood  in the fireplaces should be  put outside

C. There is a fire outside

D.  He need brings wood from outside 

2. A. She worked late at the conferences

B. her   meeting was cancelled

C. she was late for her conferences

D. She called a conferences at work

3. A. At a police station


C. At the beach 
B. in hospital



D. In the locker room
4. A. there was too much room at the dance floor
B. He enjoyed the room where they were  dancing

C.  the dance floor was too crowded

D. The club need more room for dancing

5. A.  He could not understand the fax machines
B.  He wrote  the letter  that  he sent 
C. The fax machine was easy for him  to use

D.  He was very good at figures

6. A. The man hit his head on the nail
B. The woman hit his new car

C.  The woman was exactly write

D. The woman bought a new car

7. A. He would like the woman to find his paper

B. He wants the woman the paper away.

C.  He need the woman  to put the paper
D. He would the woman to write the paper of him.

